
5291 5291.5 5292 5292.5 5293
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

1

1.5

2

2.5

3

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

2−

1.5−

1−

0.5−

0

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

5962

5962.5

5963

5963.5

5964

5964.5

5965

5965.5

5966

ru
n

run:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 5964}



5291 5291.5 5292 5292.5 5293
cyclenum

96−

95.5−

95−

94.5−

94−us
l_

1X
usl_1X:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

3.5−

3−

2.5−

2−

1.5−

us
l_

4a
Y

usl_4aY:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

40

40.5

41

41.5

42

us
l_

4e
X

usl_4eX:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

21.5

22

22.5

23

23.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

42.8−

42.6−

42.4−

42.2−

42−

41.8−

41.6−

41.4−

41.2−

41−

40.8−

40.6−

us
l_

12
X

usl_12X:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

5962

5962.5

5963

5963.5

5964

5964.5

5965

5965.5

5966

ru
n

run:cyclenum {run == 5964}



5291 5291.5 5292 5292.5 5293
cyclenum

137.4−

137.2−

137−

136.8−

136.6−

136.4−

136.2−

136−

135.8−

135.6−

135.4−

135.2−

us
r_

1X

usr_1X:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

1

1.5

2

2.5

3

us
r_

4a
Y

usr_4aY:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

202

202.5

203

203.5

204

us
r_

4e
X

usr_4eX:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

13.2

13.4

13.6

13.8

14

14.2

14.4

14.6

14.8

15

15.2

15.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

42−

41.5−

41−

40.5−

40−

us
r_

12
X

usr_12X:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

5962

5962.5

5963

5963.5

5964

5964.5

5965

5965.5

5966

ru
n

run:cyclenum {run == 5964}



5291 5291.5 5292 5292.5 5293
cyclenum

22918.2

22918.4

22918.6

22918.8

22919

22919.2

22919.4

22919.6

22919.8

22920

22920.2

22920.4

us
l_

co
il1

usl_coil1:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

3439.6

3439.8

3440

3440.2

3440.4

3440.6

3440.8

3441

3441.2

3441.4

3441.6

3441.8

us
l_

co
il3

usl_coil3:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

4177.5

4178

4178.5

4179

4179.5

us
l_

co
il4

usl_coil4:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

1182−

1181.5−

1181−

1180.5−

1180−

us
l_

co
il6

usl_coil6:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

1522.5

1523

1523.5

1524

1524.5

us
l_

co
il7

usl_coil7:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

5962

5962.5

5963

5963.5

5964

5964.5

5965

5965.5

5966

ru
n

run:cyclenum {run == 5964}



5291 5291.5 5292 5292.5 5293
cyclenum

20099−

20098.5−

20098−

20097.5−

20097−us
r_

co
il1

usr_coil1:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

2988−

2987.5−

2987−

2986.5−

2986−

us
r_

co
il3

usr_coil3:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

3909

3909.2

3909.4

3909.6

3909.8

3910

3910.2

3910.4

3910.6

3910.8

3911

3911.2

us
r_

co
il4

usr_coil4:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

357−

356.5−

356−

355.5−

355−

us
r_

co
il6

usr_coil6:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

18284.2

18284.4

18284.6

18284.8

18285

18285.2

18285.4

18285.6

18285.8

18286

18286.2

18286.4

us
r_

co
il7

usr_coil7:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

5962

5962.5

5963

5963.5

5964

5964.5

5965

5965.5

5966

ru
n

run:cyclenum {run == 5964}



5291 5291.5 5292 5292.5 5293
cyclenum

283.5−

283−

282.5−

282−

281.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

20−

19.5−

19−

18.5−

18−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

152

152.2

152.4

152.6

152.8

153

153.2

153.4

153.6

153.8

154

154.2

1X
_c

oi
l7

1X_coil7:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

338−

337.5−

337−

336.5−

336−4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

45−

44.5−

44−

43.5−

43−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

142.5

143

143.5

144

144.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 5964}



5291 5291.5 5292 5292.5 5293
cyclenum

175

175.5

176

176.5

177

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

20.5

21

21.5

22

22.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

7.5−

7−

6.5−

6−

5.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

180

180.5

181

181.5

182

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

27−

26.5−

26−

25.5−

25−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

6.4−

6.2−

6−

5.8−

5.6−

5.4−

5.2−

5−

4.8−

4.6−

4.4−

4.2−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 5964}



5291 5291.5 5292 5292.5 5293
cyclenum

236.4−

236.2−

236−

235.8−

235.6−

235.4−

235.2−

235−

234.8−

234.6−

234.4−

234.2−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

81.5−

81−

80.5−

80−

79.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

2.5

3

3.5

4

4.5

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

247−

246.5−

246−

245.5−

245−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 5964}

5291 5291.5 5292 5292.5 5293
cyclenum

5962

5962.5

5963

5963.5

5964

5964.5

5965

5965.5

5966

ru
n

run:cyclenum {run == 5964}
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